Delhi Transport Corporation Office of the Dy. CGM(C)-II Nand Nagri Depot: Delhi

No. Dy. CGM(C)-II/NND/2020/F-1888/03

Notice Inviting Quotation

M/s			

Percentage rate quotation are invited for the following work on behalf of the MD, DTC from the registered contractor of CPWD, MES, Railways, DDA, PWD Delhi, NDMC, DSIIDC, I&FC, MCD and having work experience certificate with Govt. dept.

S.	Name of work	Estimated	Earnest	Time
No.		Cost	Money	allowed
1	Repair/renovation toilet block near Cash Section & ticket Section at Rajghat Depot-I	Rs.1,78,369/-	Rs.3,567/-	36 days

Date and time of receipt of application from in the office of Mgr. (C)/PMC, HQ.

Date and time of issue of quotation from the office of Mgr. (C) /PMC HQ.

Date and time of receipt of quotation in the tender cell room No.-207 at DTC, HQ.

Date and time of opening of quotation at 3.00 PM

Definition of similar work: Repair and renovation of building works.

Note:

- 1. The work experience certificate of similar work of any Govt. dept. in the last 7 years shall be submitted along with the application for getting the quotation. The one work of value not less than 80% of the estimated cost or two works each of value not less than 60% of the estimated cost or 3 works of 40% of the estimated cost.
- The EMD should be deposited in the shape of Cash (in the DTC HQ Cash section), Banker Cheque, Pay Order, Demand Draft and FDR of Schedule Bank in favour of MD, DTC.
- The rates will be quoted/written in words also as well as in number otherwise the quotation will be cancelled.
- 4. The under signed reserves the right to cancel any /all quotations without assigning any reason thereof.
- The valid registration as on date with the above departments is to be submitted along with the application for NIQ.
- 6. The rate should be inclusive of all taxes etc.

Manager(C)H.Q.

Dated: 17-12-2020

Encl: Terms and conditions.

Copy to: 1. Dy.CGM (Civil)-II for information pl.

- 2. Manager (IT) BBM Complex requested to upload the NIQ on DTC website.
- 3. Manager, (Tender Cell), DTC, HQ. I.P. Estate for information and to make the arrangement for receipt of quotation and opening as per above schedule.
- 4. Manager(C) to issue NIQ.
- 5. Notice Board
- 6. Master file.

Schedule of Quantity

ame of work: Repair/renovation toilet block near Cash Section & ticket Section at Rajghat Depot-I

S.no.	Item No.	Description of item	Quantity	Unit	Rate (Rs)	Amount (Rs)
1	15.2.1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge. Nominal concrete 1:3:6 or richer mix (i/c equivalent design mix)	2.00	cum	997.05	1994.10
2	15.25	Dismantling stone slab flooring laid in cement mortar including stacking of serviceable material and disposal of unserviceable material within 50 metres lead.	22.00	·sqm	109.35	2405.70
3	14.82	Dismantling W.C. Pan of all sizes including disposal of dismantled materials i/c malba all complete as per directions of Engineer-in- Charge.	3.00	each	55.45	166.35
4	15.44.1	Dismantling G.I. pipes (external work) including excavation and refilling trenches after taking out the pipes, manually/ by mechanical means including stacking of pipes within 50 metres lead as per direction of Engineer-in-charge: 15 mm to 40 mm nominal hore	30.00	metre	63.65	1909.50
5	15.18	Dismantling steel work in built up sections in angles, tees, flats and channels including all gusset plates, bolts, nuts, cutting rivets, welding etc. including dismembering and stacking within 50 metres lead.	280.00	kg	2.40	672.00
6	15.7.4	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge. In cement mortar	1.50	cum	842.75	1264.13
7	15.52	Dismantling of flushing cistern of all types (C.I./PVC/Vitrious China) including stacking of useful materials near the site and disposal of unserviceable materials within 50 metres lead.	3.00	each	391.20	1173.60
8	15.23.1	Dismantling tile work in floors and roofs laid in cement mortar including stacking material within 50 metres lead. For thickness of tiles 10 mm to 25 mm	2.00	sqm	31.55	63.10
9	4.1.2	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level: 1:1½:3 (1 Cement: 1½ coarse sand (zone-III): 3 graded stone aggregate 20 mm nominal size).	1.50	cum	5924.65	8886.98

10	12.23.1.1	Providing sand stone slab for roofing and laying them in	28.00	sqm	560.05	15681.40
		cement mortar 1:4 (1 cement: 4 coarse sand) over wooden karries or R.C.C. battens or structural steel sections (Karries or battens or structural steel sections to be paid separately), including pointing the ceiling joints with cement mortar 1:3 (1 cement: 3 fine sand) complete: Red sand stone slab 40 to 50 mm thick		,		
11	12.17.1	10cm thick (average) mud phaska of damped brick earth on roofs laid to slope consolidated and plastered with 25 mm thick mud mortar with bhusha @ 35 kg per cum of earth and gobri leaping with mix 1:1 (1 clay : 1 cow-dung) and covered with machine moulded tile bricks, grouted with cement mortar 1:3 (1 cement : 3 fine sand) mixed with 2% of integral water proofing compound by weight of cement and finished neat. With machine moulded common burnt clay F.P.S. (non modular) brick tiles of class designation 12.5, conforming to IS 2690	22.00	sqm	587.85	12932.70
12	12.22	Making khurras 45x45 cm with average minimum thickness of 5 cm cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate of 20 mm nominal size) over P.V.C. sheet 1 m x1 m x 400 micron, finished with 12 mm cement plaster 1:3 (1 cement : 3 coarse sand) and a coat of neat cement, rounding the edges and making and finishing the outlet complete.	3.00	each	187.60	562.80
13	12.41.2	Providing and fixing on wall face unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A, including jointing with seal ring conforming to IS: 5382, leaving 10 mm gap for thermal expansion, (i) Single socketed pipes. 110 mm diameter	12.00	metre	236.35	2836.20
14	12.42.5.2	Providing and fixing on wall face unplasticised - PVC moulded fittings/ accessories for unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A, including jointing with seal ring conforming to IS: 5382, leaving 10 mm gap for thermal expansion. 110 mm bend	12.00	each	113.10	1357.20
15	6.4.2	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in : Cement mortar 1:6 (1 cement : 6 coarse sand)	0.75	cum	5582.85	4187.14
16	10.2	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	456.00	kg	67.60	30825.60

17	1992	Providing and fiving Chlorinated Polyvinyl Chlorida	30.00	motro	222.60	10009.00
17	18.8.3	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in Charge. Concealed work, including cutting chases and making good the	30.00	metre	333.60	10008.00
18	17.2.1	Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required: W.C. pan with ISI marked white solid plastic seat and lid	1.00	each	3418.70	3418.70
19	18.55.1	Providing and fixing PTMT stop cock of approved quality and colour. 15 mm nominal bore, 86 mm long, weighing not less than 88 gms	5.00	each	103.30	516.50
20	17.1.1	Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100 mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete, including cutting and making good the walls and	3.00	each	3494.20	10482.60
		floors wherever required: White Vitreous china Orissa pattern W.C. pan of size 580x440 mm with integral type foot rests				
21	18.54.1	Providing and fixing PTMT bib cock of approved quality and colour. 15mm nominal bore, 86 mm long, weighing not less than 88 gms	5.00	each	103.30	516.50
22	13.61.1	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: Two or more coats on new work	40.00	sqm	78.40	3136.00
23	11.37	Providing and laying Ceramic glazed floor tiles of size 300x300 mm (thickness to be specified by the manufacturer) of 1st quality conforming to IS: 15622 of approved make in colours such as White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick cement mortar 1:4 (1 Cement: 4 Coarse sand), jointing with grey cement slurry @ 3.3kg/sqm including pointing the joints with white cement and matching pigment etc., complete.	22.00	sqm	688.35	15143.70
24	13.4.2	12 mm cement plaster of mix :	25.00	sqm	168.25	4206.25
25	12.21.1	1:6 (1 cement: 6 coarse sand) Providing gola 75x75 mm in cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 stone aggregate 10 mm and down gauge), including finishing with cement mortar 1:3 (1 cement : 3 fine sand) as per standard design : In 75x75 mm deep chase	18.00	metre	153.00	2754.00

		decorative veneering instead of non decorative ISI	8.00	sqm	394.90	3159.20
		marked flush door shutters conforming to IS: 2202 (Part I) On one side only				
27	9.96.2	Providing and fixing aluminium sliding door bolts, ISI marked anodised (anodic coating not less than grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with nuts and screws etc. complete: 250x16 mm	3.00	each	189.20	567.60
28	9.97.4	Providing and fixing aluminium tower bolts, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade, with necessary screws etc. complete: 150x10 mm	3.00	each	64.30	192.90
29	9.100.1	Providing and fixing aluminium handles, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade, with necessary screws etc. complete: 125 mm	6.00	each	51.10	306.60
30	4.1.8	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level: 1:4:8 (1 Cement: 4 coarse sand (zone-III): 8 graded stone aggregate 40 mm nominal size)	2.50	cum	4478.15	11195.38
31	18.48A	Providing and placing on terrace (at all floor levels) polyethylene water storage tank, IS: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank. 18.48A Circular tank	2000.00	per litre	7.25	14500.00
32	13.61.1	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: Two or more coats on new work	50.00	sqm	78.40	3920.00
33	13.42.1	Distempering with 1st quality acrylic distemper (ready mixed) of approved manufacturer, of required shade and colour complete, as per manufacturer's specification. Two or more coats on new work	50.00	sqm	53.15	2657.50
34	15.60	Disposal of building rubbish / malba / similar unserviceable, dismantled or waste materials by mechanical means, including loading, transporting, unloading to approved municipal dumping ground or as approved by Engineer-in-charge, beyond 50 m initial lead, for all leads including all lifts involved.	10.00	cum	120.55	1205.50
			A -1 -1 - 4 - 6	7504	Total	174805.41
			Add 12	/5% CO	st index (+) Total	22287.69 197093.10
			Less @ 9.	5% on D	SR-2016 (-)	18723.84
					Total	178369.26

Say Rs. 1,78,400/-

Manager (C) H.Q.

S.O.(Civil)H.Q.

Terms & Conditions: -

- 1. The work shall be executed as per latest CPWD specifications with correction slip issued up to the date and as per direction of Engineer-in-charge.
- The contractor shall take all safety measures for satisfactory completion of the work at his own cost and he shall be completely responsible for any mishap occur during execution of the work.
- 3. No T & P will be provided by the DTC.
- 4. All valid/mandatory taxes will be deducted as per Govt. rules from contractor bill.
- 5. Any damage to any part of the building during execution of the work shall be made good by the contractor at his own cost.
- 6. The contractor shall make his own arrangement for filtered & unfiltered water and electricity for use in construction and for his labour.
- 7. Contractor shall ensure the payment of workers in minimum wages and other social security scheme like PF, ESI contribution and bonus etc.
- 8. Contractor shall ensure the payment of revision of minimum wages notified by labour department every year in the month of April & October. This clause shall not only be a statutory obligation on the part of contractors but also shall ensure the legal entitlement to minimum rate of wages to workers.
- The Officer-in-charge of the work will accept or reject the work executed, according to his judgement.
- 10. This order can be cancelled /stopped at any time by the officer-in-charge of the work or by any officer superior to him in authority similarly, the contractor is liable to cease work at any time.
- 11. The rates quoted by the agency shall include all the applicable taxes like GST etc. & nothing extra on account of taxes shall be payable.
- 12. The 5% security shall be deducted from the running/final payments & same shall be released after a period of 6 months after date of satisfactory completion of the work.

Manager(C)H.O.